
����� 3 
 

��ก
��
���
��������� 
 

 ���������	��	ก��� ����������	����� 8,072,000 ��������� (5,045 !�")  $%"��&'�           
2 ������(� )�* �������������(�+�(�� ,-���� 265,600 ��������� (166 !�") $�0�������������(�
�	��1� ,-���� 7,806,400 ��������� (4,879 !�") 3��,0�-�ก��+-���,ก��456�������(*�*�)��          
�"�� 7 ����ก����(6*�ก	%ก�������ก��+*�  ก��%��������*ก���-���� $�0ก��%��ก�� �&'���	ก           
4�+"��������(�+�(�� )�* *�)������	��*�8"4���������-�%� �(��8&56�� *-��9*���*� ,	���	�+�(��
$�0������(��	��1� )�* *�)������	��*�8"4���������-�%�%6����6�� *-��9*&:��0�*� ,	���	��	��1� 
����0�*����	������ 1 
�
�
� 1 $+��,-�����������4�$�"�0*�)��(*����������	��	ก��� 

�����
�
� 
��
��� �!���� 
(�
�
�����) 

�
�$
���%���
  
1. *�)��)�0<��&ก���<�+��= 3,408 
2. *�)��)�0�<��?<�+��=$�0%�����@1�ก�, 2,856 
3. *�)��)�0<Aก��<�+��=(��	��ก"�) 3,362 
4. *�)��9�)��5�)���<�+��= 2,184 
5. *�)��)�0����<�+��= 2,430 
6. *�)���*�ก&�0+�)=-��<Aก�� 2,950 
7. *�)������*ก��%�����$�0ก�������ก��+*� 4,496 
8. *�)���*�ก&�0+�)= 1 (�*&�051�4�C") �Aก A 3,142 
9. *�)�����������*�ก&�0+�)= 1  �Aก B 6,048 
10. *�)���*+�1� 10,308 
11. *�)��9�)��5���)3�3���$�0+��*+��ก��<Aก�� 864 
12. *�)��IT-Ed1 227 
13. *�)��)�0��1��<�+��=$�0+	�)�<�+��= 11,060 
14. *�)���*�	ก��+�� &���5��1 5,665 
15. *�)���*�	ก��+�� &���5��2 5,665 
16. *�)���*�	ก��+�� &���5��3 7,767 
17. +���J1�%*���6*��8"���� 15,041 
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�
�
� 1 $+��,-�����������4�$�"�0*�)��(*����������	��	ก��� (�"*) 

�����
�
� 
��
��� �!���� 
(�
�
�����) 

18. +��������+ 3,148 
19. *�)��)�0<Aก��<�+��= 12,422 
20. *�)��%6���	�����< 144 
21. *�)��+-��	ก)*������*�= 2,681 
22. 3��&KL�<��&ก��� 444 
23. *�)��5����1+���$�0+M������0���� 175 
24. 3�����$%�����	� 468 
25. *�)��ก�,ก�����+��$�0+��)�<���=�ก"� 1,886 
26. *�)���1�����)<�+��= 1,775 
27. *�)��9��ก�,�	N��*�)��+M�����$�0+M�������1����*ก��<Aก�� 953 
28. *�)��3��*���� 2,550 
29. *�)���*&�051��ก"� 575 

��� �!����ก
�&���
�
� �
�$
���%���
 114,693 
�
�$
��� +��,�  
1. *�)��%�����$�0+-��	ก���ก��� 11,100 
2. *�)���*&�051�$�0<8��=%��ก����5�ก�� 6,600 
3. *�)�������ก��+1(9��$�0ก�O� 4,506 
4. *�)����������1 (�6*�200)�) 5,760 
5. *�)����������2 (�6*�400)�) 2,693 
6. *�)��3��*���� 1,296 
7. *�)��&P�%	��ก�������<�+��= 2 (SC2) 10,780 
8. *�)��&P�%	��ก�������<�+��= 1 (SC1) 10,508 
9. *�)��&P�%	��ก�����0������+	��=��-� 2,500 
10. *�)��&P�%	��ก���)��*1�+��ก��� 1,600 
11. *�)��&P�%	��ก���6����	������$��1 750 
12. *�)��&P�%	��ก���Sก�<�+��= 1,716 
13. *�)��&P�%	��ก���6����	������$��2 259 
14. *�)��<8��=����%��ก�� 13,500 
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�
�
� 1 $+��,-�����������4�$�"�0*�)��(*����������	��	ก��� (�"*) 

�����
�
� 
��
��� �!���� 
(�
�
�����) 

15. *�)��&P�%	��ก�������<�+��=$�0��)3�3���*���� 1,059 
16. +���J1�%*���6*��8"���� 19,800 
17. *�)��<8��=ก�,ก�����+�� 2,400 
18. *�)��3��TUก��<Aก�� 1,880 
19. +��������+ 3,300 
20. �*�	ก*������1 1,446 
21. �*�	ก*������2 1,446 
22. �*�	ก*������3 1,446 
23. �*�	ก*������4 1,446 
24. �*�	ก*������5 1,446 
25. �*�	ก*������6 1,446 
26. �*�	ก�0�*� 1 8,050 
27. �*�	ก�0�*� 2 8,050 
28. �*�	ก�0�*� 3 6,150 
29. �*�	ก�0�*� 4 6,150 
30. �*�	ก�	%*�1�(%1)1) 3,490 
31. �*�	ก*1"�+1���=(%1)2) 3,490 
32. �*�	ก<��+1����)=(%1)3) 3,490 
33. *�)����"��<Aก��$�0��,	�3)�� 252 
34. 3�����*����05-�3)�����Vก 144 
35. *�)��3��������	� 960 
36. 3�����*�W+����$�0�กV%�	+�1ก���ก��� 100 
37. *�)��)*ก������3)�� 936 
38. *�)���กV%�)���*�,	ก� 360 
39. 3��W+�*���� 240 
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�
�
� 1 $+��,-�����������4�$�"�0*�)��(*����������	��	ก��� (�"*) 

�����
�
� 
��
��� �!���� 
(�
�
�����) 

40. *�)��&P�%	��ก����)3�3���ก���ก���(��ก1��*�) 738 
41. 3��W����� 48 
42. 3�����05-� 48 

��� �!����ก
�&���
�
� �
�$
��� +��,� 153,379 
��� �!�����+!���/ 268,072 

 
 4�ก��<Aก�����)��0�=(6*�8�ก��456������� !�6$%"�ก��<Aก���&'� 2 +"�� )�* (6*�8�ก��456
�������(*���"����� $�0(6*�8�&�0+��@�9��ก��456�6*������ 
1. ������ก
�&�� �!����&�4�5��6���7� $%"�&�0�9�ก��456 �&'� 7 &�0�9� !�6$ก"  
 1.1  �!����� ���ก
����$�ก
�%�� �� �!���� 50,579 �
�
����� 4�5��68��������$
$ 
4������69
�+�
ก
�  
 1.1.1 �6*�%����� ��������� 12,682 ��������� ��"������������������6*�%�������ก
���+1� 3 *	��	%$�ก (�*ก����*,�ก�������4�)����8$�(*���"�����+"��ก���(*����������	� 
,-���� 5,858 ���������) !�6$ก" )�0�����<�+��= ��������� 2,058 ��������� (16.23%) 
�*�����)�* )�0<Aก��<�+��= ��������� 1,302 ��������� (10.27%) $�0)�0��1��<�+��$�0
+	�)�<�+��= ��������� 1,264 ��������� (9.97%) +"����"������������������6*�%������6*����+1�)�* 
)�0��)3�3���$�0ก���	N��51�5� ��������� 139 ��������� (1.10%) 
 1.1.2 �6*�&P�%	��ก�� (456��������+*�$�0�*ก�����+*�) ��������� 37,897 �����
���� ��"�����������6*�&P�%	��ก����ก���+1� 3 *	��	%$�ก !�6$ก" )�0<Aก��<�+��= ��������� 19,879 
��������� (52.45%) �*�����)�* )�0�����<�+��= ��������� 10,474 ��������� (27.65%) $�0
)�0<��&ก���<�+��= ��������� 2,958 ��������� (7.80%) +"����"������������������6*�&P�%	��ก��
�6*����+1� )�* )�0�<��?<�+��=$�0%�����@1�ก�, ��������� 128 ��������� (0.34%) ����0�*���
&��กP�	������ 2 
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�
�
� 2 $+��,-����(*������������*ก�������ก��+*� ,-�$�ก�����"����� 

��5�$�
� / �;� 
 �!����� ���ก
����$�ก
�%�� 

��� 
�������$
$ ����69
�+�
ก
� 

�
�$
���%���
    
T:��%�����   2,900 - 2,900 
+-��	ก�*+�1�   61 - 61 
+-��	ก)*������*�=   252 180 432 
)�0��1��<�+��=$�0+	�)�<�+��= 1,264 448 1,712 
)�0�<��?<�+��=$�0%�����@1�ก�, 672 128 800 
)�0<Aก��<�+��= 1,302 19,879 21,181 
)�0<��&ก���<�+��= 501 2,958 3,459 
)�0����<�+��= 576 - 576 
)�0�����<�+��= 908 3,381 4,289 

��� �!���� �
�$
���%���
 8,436 26,974 35,410 
�
�$
��� +��,�    
T:��%�����   2,210 - 2,210 
+-��	ก)*������*�=   435 376 811 
)�0�����<�+��= 1,150 7,093 8,243 
)�0��)3�3���$�0ก���	N��51�5� 139 2,820 2,959 
)�0�����ก��+1(9��$�0ก��ก�O� 312 634 946 

��� �!���� �
�$
��� +��,� 4,246 10,923 15,169 

��� �!�����+!���/ 12,682 37,897 50,579 

 
 1.2  �!����� ���ก
��
�+$ ��������� 803 ��������� ��"���������������������*ก����,	���ก���+1� 
!�6$ก" )�0�����<�+��= ��������� 674 ��������� (83.93%) �*�����)�*)�0��)3�3���$�0ก��
�	N��51�5� ��������� 97 ��������� (12.08%) $�0)�0<��&ก���<�+��= ��������� 32 ��������� 
(3.99%) ����0�*����	������ 3 
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�
�
� 3 $+��,-����$�0�6*��0(*������������*ก����,	� ,-�$�ก�����"����� 

��5�$�
� / �;�  �!����� ���ก
��
�+$ (��.�.) ���$�� 

�
�$
���%���
   
)�0�����<�+��= 96 11.95 
)�0<��&ก���<�+��= 32 3.99 

��� �!���� �
�$
���%���
 128 15.94 

�
�$
��� +��,�   
)�0�����<�+��= 578 71.98 
)�0��)3�3���$�0ก���	N��51�5� 97 12.08 

��� �!���� �
�$
��� +��,� 675 84.06 

��� �!�����+!���/ 803 100.00 

 
 1.3  �!����� ���ก
���
�
� (%�
�+ก�
� ����������
�
�) !�6$ก" �6*��-����W86%����� 
�6*�+-��	ก��� �6*��	ก*�,���= �6*��-�����,6���6����  ���������  20,006 ��������� ��"����������
�����������*ก��%�������ก���+1� 3 *	��	%$�ก !�6$ก" )�0�����<�+��= ��������� 4,037 ��������� 
(20.18%) �*�����)�* T:��%�����������(��	��1� ��������� 2,568 ��������� (12.84%) $�0 
)�0��1��<�+��=$�0+	�)�<�+��= ��������� 2,541 ��������� (12.70%) +"����"�����������������
����*ก��%������6*����+1� )�* %	�Y��������	� ��������� 128 ��������� (0.64%) ����0�*����	�
����� 4 
�
�
� 4 $+��,-����$�0�6*��0(*������������*ก��%����� ,-�$�ก�����"����� 

��5�$�
� / �;� 
 �!����� ���ก
���
�
� 

���$�� 
(������
�
�) 

�
�$
���%���
   
T:��%�����   2,529 12.64 
+-��	ก�*+�1�  736 3.68 
+-��	ก)*������*�=   421 2.10 
T:��ก�,ก����+�� 596 2.98 
)�0��1��<�+��=$�0+	�)�<�+��= 2,541 12.70 
)�0�<��?<�+��=$�0%�����@1�ก�, 688 3.44 
)�0<Aก��<�+��= 2,272 11.36 
)�0<��&ก���<�+��= 670 3.35 
)�0����<�+��= 320 1.60 
)�0�����<�+��= 1,591 7.95 
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�
�
� 4 $+��,-����$�0�6*��0(*������������*ก��%����� ,-�$�ก�����"����� (�"*) 

��5�$�
� / �;� 
 �!����� ���ก
���
�
� 

���$�� 
(������
�
�) 

%	�Y��������	� 128 0.64 

��� �!���� �
�$
���%���
 12,491 62.44 

�
�$
��� +��,�   
T:��%�����   2,568 12.84 
+-��	ก�*+�1� 276 1.38 
+-��	ก)*������*�=   591 2.95 
T:��ก�,ก����+�� 303 1.51 
)�0�����<�+��= 2,446 12.23 
)�0��)3�3���ก���	N��51�5� 639 3.19 
)�0�����ก��+1(9��$�0ก��ก�O� 693 3.46 

��� �!���� �
�$
��� +��,� 7,515 37.56 

��� �!�����+!���/ 20,006 100.00 

 
 1.4  �!����� ���ก
�ก����
%
�  !�6$ก" �6*�)�0ก���ก����+�� �6*�5����"��7  ��������� 
1,637 ��������� ��"���������������������*ก�,ก�����+����ก���+1� 3 *	��	%$�ก (�*ก����*,�ก�������
4�)����8$�(*���"�����+"��ก���(*����������	� ,-���� 1,344 ���������) !�6$ก"                
)�0�����<�+��= ��������� 155 ��������� (9.47%) �*�����)�* )�0<Aก��<�+��= ���������        
90 ��������� (5.50%) $�0)�0��1��<�+��=$�0+	�)�<�+��= ��������� 40 ��������� 
(2.44%) ����0�*����	������ 5 
�
�
� 5 $+��,-����$�0�6*��0(*������������*ก�,ก�����+�� ,-�$�ก�����"�����  

��5�$�
� / �;�  �!����� ���ก
�ก����
%
� ���$�� 

�
�$
���%���
   
T:��ก�,ก����+�� 735 44.90 
)�0��1��<�+��=$�0+	�)�<�+��= 40 2.44 
)�0�<��?<�+��=$�0%�����@1�ก�, 8 0.49 
)�0<Aก��<�+��= 90 5.50 

��� �!���� �
�$
���%���
 873 53.33 
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�
�
� 5 $+��,-����$�0�6*��0(*������������*ก�,ก�����+�� ,-�$�ก�����"����� (�"*) 

��5�$�
� / �;�  �!����� ���ก
�ก����
%
� ���$�� 

�
�$
��� +��,�   
T:��ก�,ก����+�� 609 37.20 
)�0�����<�+��= 155 9.47 

��� �!���� �
�$
��� +��,� 764 46.67 

��� �!�����+!���/ 1,637 100.00 

 
 1.5  �!����� ���ก
�&����
ก
�  !�6$ก" ��������6*�+�1� �6*�&�051� �6*��	%$(ก �6*��กV%(*� 
�6*�)�	� �6*��กV%*1&ก��=+-���	%ก������� �6*��	ก%1)��ก�/*�,���=&�0,-��*�	ก �6*��	ก��+�� 
�6*��	ก$�"%6�� �6*�%��ก������*ก��<Aก�� �6*�)�%)1��0%% �6*��0���� �6*�����*ก��+	����
ก�����*%	�����  �6��)6�+�	+��ก�� $�0Common Room ��������� 97,972 ��������� ��"����������
�����������*ก��4�6%��ก����ก���+1� 3 *	��	%$�ก (�*ก����*,�ก����������*�8"4�)����8$�(*���"�����
+"��ก���(*����������	� ,-���� 88,857���������) !�6$ก" )�0�����<�+��= 3,804 �����
���� (3.89%) �*�����)�* )�0<Aก��<�+��= 1,727 ��������� (1.76%) $�0)�0
��1��<�+��=$�0+	�)�<�+��= ��������� 1,356 ��������� (1.38%) ����0�*����	������ 6 
�
�
� 6 $+��,-����$�0�6*��0(*������������*ก��4�6%��ก�� ,-�$�ก�����"�����  

��5�$�
� / �;�  �!����� ���ก
�&����
ก
� ���$�� 

�
�$
���%���
   
T:��%�����   4,496 4.59 
+-��	ก�*+�1�   5,774 5.89 
+-��	ก)*������*�=   1,001 1.02 
T:��ก�,ก����+�� 11,058 11.29 
)�0��1��<�+��=$�0+	�)�<�+��= 1,356 1.38 
)�0�<��?<�+��=$�0%�����@1�ก�, 152 0.16 
)�0<Aก��<�+��= 1,727 1.76 
)�0<��&ก���<�+��= 710 0.72 
)�0����<�+��= 82 0.08 
)�0�����<�+��= 1,074 1.10 
%	�Y��������	� 32 0.03 

��� �!���� �
�$
���%���
 27,460 28.03 
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�
�
� 6 $+��,-����$�0�6*��0(*������������*ก��4�6%��ก�� ,-�$�ก�����"����� (�"*) 

��5�$�
� / �;�  �!����� ���ก
�&����
ก
� ���$�� 

�
�$
��� +��,�   
T:��%�����   11,776 12.02 
+-��	ก�*+�1�  2,719 2.78 
+-��	ก)*������*�=     982 1.00 
T:��ก�,ก����+�� 51,051 52.11 
)�0�����<�+��= 2,730 2.79 
)�0��)3�3���ก���	N��51�5� 887 0.91 
)�0�����ก��+1(9��$�0ก��ก�O� 367 0.37 

��� �!���� �
�$
��� +��,� 70,512 71.97 

��� �!�����+!���/ 97,972 100.00 

 
 1.6  �!������,����$� !�6$ก" �6*���-� �6*�_	ก�6�� 3M� ������� �0�%��� %	�!� ��J�= 
���������	������������1������ 93,760 ��������� ���* 34.98% (*������������1ก&�0�9�         
4�,-��������&'�����������*�8"4�)����8$�(*���"�����+"��ก���(*����������	� 59,322 �����
���� ���* 63.27% (*����������1������ ��"�������������������1��������ก���+1� 3 *	��	%$�ก 
(�*ก����*,�ก����������*�8" 4�)����8$�(*���"�����+"��ก���(*����������	�)!�6$ก"               
)�0�����<�+��= ��������� 16,482 ��������� (17.58%) �*�����)�* )�0��1��<�+��=$�0
+	�)�<�+��=  ���������  5,555 ���������(5.92%)$�0)�0<Aก��<�+��=  ���������  4,836              
��������� (5.16%) ����0�*����	������ 7 
�
�
� 7 $+��,-����$�0�6*��0(*����������1������ ,-�$�ก�����"�����  

��5�$�
� / �;�  �!������,����$� ���$�� 

�
�$
���%���
   
T:��%�����   8,119 8.66 
+-��	ก�*+�1� 2,449 2.61 
+-��	ก)*������*�=   828 0.88 
T:��ก�,ก����+�� 8,477 9.04 
)�0��1��<�+��=$�0+	�)�<�+��= 5,555 5.92 
)�0�<��?<�+��=$�0%�����@1�ก�, 1,208 1.29 
)�0<Aก��<�+��= 4,836 5.16 
)�0<��&ก���<�+��= 2,457 2.62 
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�
�
� 7 $+��,-����$�0�6*��0(*����������1������ ,-�$�ก�����"����� (�"*) 

��5�$�
� / �;�  �!������,����$� ���$�� 

)�0����<�+��= 554 0.59 
)�0�����<�+��= 3,256 3.47 

��� �!���� �
�$
���%���
 37,738 40.25 

�
�$
��� +��,�   
T:��%�����   20,471 21.83 
+-��	ก�*+�1� 4,001 4.27 
+-��	ก)*������*�=   2,563 2.73 
T:��ก�,ก����+�� 12,414 13.24 
)�0�����<�+��= 13,226 14.11 
)�0��)3�3���ก���	N��51�5� 752 0.80 
)�0�����ก��+1(9��$�0ก��ก�O� 2,596 2.77 

��� �!���� �
�$
��� +��,� 56,022 59.75 

��� �!�����+!���/ 93,760 100.00 

 
 1.7 �����5
� ��,-���� 3,315 ��������� ���* 1.24% (*������������1ก&�0�9� 
��"������������������"����ก���+1� 3 *	��	%$�ก !�6$ก" +-��	ก�*+�1� ������(��	��1� ��������� 1,304 
��������� (39.34%) _A���&'�%������������5	�� 4 (*�+-��	ก�*+�1� ����*�,�ก(���%&�0���         
4�ก��,	�_��*)�19	�Y=$�0ก���"*�����6*� �-�4�6M8ก&�"*�!�6�&'���������"�� �*�����)�* T:��%�����           
������(��	��1� ��������� 894 ��������� (26.97%) $�0+-��	ก)*������*�= ������(��	��1�           
��������� 254 ��������� (7.66%) ����0�*����	������ 8 
�
�
� 8 $+��,-����$�0�6*��0(*���������"�� ,-�$�ก�����"�����  

��5�$�
� / �;�  �!�����5
� ���$�� 

�
�$
���%���
   
T:��%����� 101 3.05 
+-��	ก�*+�1� 163 4.92 
T:��ก�,ก����+�� 74 2.23 
)�0<Aก��<�+��= 192 5.79 
)�0�����<�+��= 64 1.93 

��� �!���� �
�$
���%���
 593 17.89 
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�
�
� 8 $+��,-����$�0�6*��0(*���������"�� ,-�$�ก�����"����� (�"*) 

��5�$�
� / �;�  �!�����5
� ���$�� 

�
�$
��� +��,�   
T:��%�����   894 26.97 
+-��	ก�*+�1� 1,304 39.34 
+-��	ก)*������*�=   254 7.66 
T:��ก�,ก����+�� 79 2.38 
)�0�����<�+��= 112 3.38 
)�0��)3�3���ก���	N��51�5� 79 2.38 

��� �!���� �
�$
��� +��,� 2,722 79.12 

��� �!�����+!���/ 3,315 100.00 

 
 ,�ก(6*�8�+�1&!�6�"� ���������	����������456���&�0�9������������*ก��4�6%��ก����ก���+1� 
)�* 36.55% �*����� �&'��������&�0�9����������1������ 34.98% $�0�����������*ก�������ก��+*� 
18.87%  
 

2. ������6��%
�<
7
 ก
�&���������$� 
 4�ก��<Aก��(6*�8�&�0+��@�9��ก��456�6*������ ,0$%"�ก��<Aก�����)��0�=(6*�8�
**ก�&'� 2 �	ก��0 )�* ,-�$�ก���*�)�� $�0,-�$�ก����6*������+"��ก��� ���*�8"4�)����8$�
(*���"�����+"��ก���(*����������	� $�0,0<Aก���`��0�6*������������ก�1"�9��ก�,�0�%���
��+��$�0%��ก��ก��<Aก�� !�6,	�4�6�&'��6*������ก�������ก��+*� ��������ก�������ก��+*� 
(*���+���1ก�0�	%ก��<Aก�� �	��9�)ก��<Aก����� 1 $�09�)ก��<Aก����� 2 &aก��<Aก�� 2556            
_A��4�&aก��<Aก�� 2556 ��� ��,-�����6*�������	����� 316 �6*� �&'��6*�%����� 127 �6*� 
�6*�&P�%	��ก�� 189 �6*�  
 4�,-�����6*�������	��������ก�"���� ��ก$�ก,-�����6*�������&'����)�0 �%�"�  
)�0�����<�+��= ��,-�����6*��������ก���+1� 132 �6*� )���&'��6*��0 41.77 �*�����)�*           
)�0<��&ก���<�+��= 39 �6*� )���&'��6*��0 12.34 $�0)�0<Aก��<�+��= 32 �6*� )���&'�  
�6*��010.13 $�"4�ก��456���,��� !�"!�6456)�%���,-���������*�8" ����*�,�ก��ก��&b�&�	%&�1�
_"*�$_��6*� ���*�&'��6*���������)�0%�����,	�ก��456�*� !�"!�6$,6��"*ก�1"�9��ก�,�0�%�����+��
$�0%��ก��ก��<Aก���-���4564�ก��,	��6*��������������ก�������ก��+*� ,A�!�"��(6*�8�ก��456
��� �&'��6� $�"��)�0����<�+��=�&'�)�0�����ก��456�6*������)�%�1ก�6*�  
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 3��9�����(*����������	��	ก������6*���������M8ก456+*���������ก�������ก��+*�
�	����� ,-���� 226 �6*� )���&'��6*��0 71.52 (*�,-�����6*�����������*�8"�	����� $%"��&'��6*�
%����� 131 �6*� )���&'��6*��0 103.15 (*��6*�%����� �&'��6*�&P�%	��ก�� 95 �6*� )���&'�
�6*��0 50.26 (*��6*�&P�%	��ก�� 

4�,-�����6*���������!�"!�6M8ก,	�4�6456��������ก�������ก��+*� ,-���� 90 �6*�       
)���&'��6*��0 28.48 (*�,-�����6*�������	��������  )�0�����<�+��= ��,-�����6*���������!�"!�6
M8ก,	�4�6456��������ก�������ก��+*���ก���+1� )�* 62 �6*� _A���&'��6*�%����� 2 �6*� 
�6*�&P�%	��ก�� 60 �6*�  �*�����)�* )�0<Aก��<�+��= ��,-���� 12 �6*� �&'��6*�&P�%	��ก��
�	����� $�0)�0��)3�3���$�0ก���	N��51�5� ��,-���� 12 �6*� �&'��6*�&P�%	��ก���	�����  
 (6*+	��ก�����������%�"� %��)�0!�6$,6��"*ก�1"�9��ก�,�0�%�����+��$�0%��ก��
ก��<Aก���-��6*�&�051� �6*��	ก*�,���= $�0�6*�%��ก������*ก��<Aก�� �-���4564�ก��,	�
�6*��������������ก�������ก��+*��6�� !�6$ก" )�0��1��<�+��=$�0+	�)�<�+��= ��ก���-�
�6*�&�051�$�0�6*��	ก*�,���= ��456�&'��6*������%����� ,-���� 3 �6*� )�0�<��?<�+��=
$�0%�����@1�ก�, ��ก���-��6*�&�051���456�&'��6*������%����� ,-���� 2 �6*� )�0<��&ก���
<�+��= ��ก���-��6*�&�051�$�0�6*��	ก*�,���=��456�&'��6*������%����� ,-���� 2 �6*�           
)�0�����<�+��= ��ก���-��6*��	ก*�,���=��456�&'��6*������%����� ,-���� 1 �6*� $�0           
)�0<Aก��<�+��= ��ก���-��6*��	ก*�,���= $�0�6*�%��ก������*ก��<Aก�� ��456�&'��6*������
%����� ,-���� 2 �6*� ����*�,�ก�6*������%�������!�"������*�"*ก��456��� ���*!�"���6*������
%��������*�8"4�)����8$�(*���"������*� ����0�*���&��กP�	������ 9 
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�
�
� 9 �&���%����%,-�����6*�����������*�8"�	�����ก	%,-�����6*���������456+*��������� 
                ก�������ก��+*� &aก��<Aก�� 2556 

��"�����/*�)�� 

,-�����6*�������	����� ,-�����6*���������456+*�c �6*��0
ก��456
�6*�

%����� 

�6*��0ก�� 
456�6*� 

&P�%	��ก�� 

�6*��0
(*�ก��
456���
�	����� 

%����� &P�%	��ก�� ��� %����� &P�%	��ก�� ��� 

�
�$
���%���
 89 101 190 95 54 149 106.74 53.47 78.42 
1. =>
$��
�
� 27 0 27 27 0 27 100.00 0.00 100.00 
    - *�)������*ก��%�����$�0ก�������ก��+*� 3 0 3 3 0 3 100.00 0.00 100.00 
    - *�)����������*��ก&�0+�)= 1 �Aก B 24 0 24 24 0 24 100.00 0.00 100.00 
2. %�
�+ก��%�,/ 1 0 1 1 0 1 100.00 0.00 100.00 
    - *�)���*+�1� 1 0 1 1 0 1 100.00 0.00 100.00 
3. %�
�+ก��� 
������ 1 1 2 1 2 3 100.00 200.00 150.00 
    - *�)��+-��	ก)*������*�= 1 1 2 1     **2 3 100.00 200.00 150.00 
4. �;���,?$@
%���4��%+���@
%��� 16 5 21 18 5 23 112.50 100.00 109.52 
    - *�)��)�0��1��<�+��=$�0+	�)�<�+��= 16 5 21    *18 5 23 112.50 100.00 109.52 
5. �;��@�?A@
%���4����
�
�<,�ก
� 7 1 8 9 1 10 128.57 100.00 125.00 
    - *�)��)�0�<��?<�+��=$�0%�����@1�ก�, 7 1 8     *9 1 10 128.57 100.00 125.00 
6. �;�@Bก?
@
%��� 13 19 32 13 7 20 100.00 36.84 62.50 
    - *�)��)�0<Aก��<�+��=  1 1 2     *3 0 3 300.00 0.00 150.00 
    - *�)��)�0<Aก��<�+��= (��	��ก"�) 8 5 13 7 1 8 87.50 20.00 61.54 
    - *�)��*��ก&�0+�)=-��<Aก�� 3 3 6 3 2 5 100.00 66.67 83.33 
    - *�)��9�)��5���)3�3���$�0+��*+��ก��<Aก�� 1 6 7 0 0 0 0.00 0.00 0.00 
    - *�)�� IT-Ed1 0 1 1 0 1 1 0.00 100.00 100.00 
    - 3�����$%�����	� 0 1 1 0 1 1 0.00 100.00 100.00 
    - +���J1�%*� 0 1 1 0 1 1 0.00 100.00 100.00 
    - +��������+ 0 1 1 0 1 1 0.00 100.00 100.00 
7. �;�@
�6ก���@
%��� 6 33 39 8 25 33 133.33 75.76 84.62 
    - *�)��)�0<��&ก���<�+��= 3 8 11     *5 2 7 166.67 25.00 63.64 
    - *�)���1�����)<�+��= 3 14 17 3 12 15 100.00 85.71 88.24 
    - *�)���*+�1� (5	���"��) 0 9 9 0 9 9 0.00 100.00 100.00 
    - *�)���*&�051��ก"� 0 1 1 0 1 1 0.00 100.00 100.00 
    - 3��&KL�<��&ก��� 0 1 1 0 1 1 0.00 100.00 100.00 
8. �;��
�
@
%��� 4 0 4 4 0 4 100.00 0.00 100.00 
    - *�)��)�0����<�+��= 4 0 4 4 0 4 100.00 0.00 100.00 
9. �;��
�$
@
%��� 14 42 56 14 14 28 100.00 33.33 50.00 
    - *�)��)�0<Aก��<�+��=  4 41 45 4 13 17 100.00 31.71 37.78 
      (456�"��ก	%)�0<Aก��<�+��=)          
    - *�)��9�)��5�)���<�+��= 10 1 11 10 1 11 100.00 100.00 100.00 
10. �+;C
��
�$
�+$ 0 0 0 0 0 0 0.00 0.00 0.00 

    - *�)������*ก��%�����$�0ก�������ก��+*� 0 0 0 0 0 0 0.00 0.00 0.00 
     (456�"��ก	%T:��%����� ������(�+�(��)          
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�
�
� 9 �&���%����%,-�����6*�����������*�8"�	�����ก	%,-�����6*���������456+*��������� 
               ก�������ก��+*� (�"*) 

��"�����/*�)�� 

,-�����6*�������	����� ,-�����6*���������456+*�c �6*��0
ก��456
�6*�

%����� 

�6*��0ก�� 
456�6*� 

&P�%	��ก�� 

�6*��0
(*�ก��
456���
�	����� 

%����� &P�%	��ก�� ��� %����� &P�%	��ก�� ��� 

�
�$
��� +��,� 38 88 126 36 41 77 94.74 46.59 61.11 
1. =>
$��
�
� 16 0 16 16 0 16 100.00 0.00 100.00 

    - *�)���������� 1 (�6*� 200 )�) 15 0 15 15 0 15 100.00 0.00 100.00 

    - *�)���������� 2 (�6*� 400 )�) 1 0 1 1 0 1 100.00 0.00 100.00 
2. %�
�+ก��� 
������ 2 3 5 2 2 4 100.00 66.67 80.00 

     - *�)��<8��=����%��ก�� 2 3 5 2 2 4 100.00 66.67 80.00 
3. �;��
�$
@
%��� 15 61 76 13 29 42 86.67 47.54 55.26 

    - *�)��&P�%	��ก�������<�+��= 1 (SC1) 9 19 28 9 8 17 100.00 42.11 60.71 

    - *�)��&P�%	��ก�������<�+��= 2 (SC2) 3 23 26 3 17 20 100.00 73.91 76.92 

    - *�)��&P�%	��ก���Sก�<�+��= 2 8 10 0 0 0 0.00 0.00 0.00 

    - *�)��&P�%	��ก���)��*1�+��ก��� 0 1 1 0 1 1 0.00 100.00 100.00 

    - *�)��&P�%	��ก���6����	������$�� 1 0 2 2 0 0 0 0.00 0.00 0.00 

    - *�)��&P�%	��ก���6����	������$�� 2 0 2 2 0 1 1 0.00 50.00 50.00 

    - *�)��&P�%	��ก���6�����0������+	��=��-� 1 6 7 1 2 3 100.00 33.33 42.86 
4. �;����D�D�$�4��ก
� +E�
�,��� 2 18 20 2 6 8 100.00 33.33 40.00 

    - *�)����"��<Aก����,	�3)�� 0 1 1 0 0 0 0.00 0.00 0.00 

    - *�)��&P�%	��ก�������<�+��=$�0 1 5 6 1 2 3 100.00 40.00 50.00 
      ��)3�3���*����          

    - *�)��&P�%	��ก�������<�+��= 2 (SC2) 0 3 3 0 1 1 0.00 33.33 33.33 
      (456�"��ก	%)�0�����<�+��=)          

    - *�)��&P�%	��ก����)3�3���ก���ก��� 1 3 4 1 3 4 100.00 100.00 100.00 
       (*�)����ก1��*�)          

    - *�)��3��������	� 0 1 1 0 0 0 0.00 0.00 0.00 

    - *�)��)*ก������3)�� 0 2 2 0 0 0 0.00 0.00 0.00 

    - 3�����*�W+����$�0�กV%�	+�1ก���ก��� 0 1 1 0 0 0 0.00 0.00 0.00 

    - 3�����*����05-�3)�����Vก 0 1 1 0 0 0 0.00 0.00 0.00 

    - 3��W+�*���� 0 1 1 0 0 0 0.00 0.00 0.00 
5. �;��
�$
ก
�%,�7
 4��ก
�ก�F
 3 6 9 3 4 7 100.00 66.67 77.78 

     - *�)�������ก��+1(9��$�0ก��ก�O� 3 5 8 3 4 7 100.00 80.00 87.50 

     - 3��W����� 0 1 1 0 0 0 0.00 0.00 0.00 

����+!���/ 127 189 316 131 95 226 103.15 50.26 71.52 

��
$���, : * �&'�*�)�������ก���-��6*�&�051�/�6*��	ก*�,���=/�6*�%��ก������*ก��<Aก�� ��456�&'��6*������%����� 
        ��������ก�������ก��+*��6�� �-�4�6!�6)"��6*��0ก��456�6*�%����� �ก�� 100 �&*�=�_V��= 
    ** ��ก���-��6*�&P�%	��ก��$�0TUก*%��)*������*�= (�6*�%��ก������*ก��<Aก��) (*�+-��	ก)*������*�= 
         ������(�+�(�� ��456�&'��6*������&P�%	��ก�� ��������ก�������ก��+*��6�� �-�4�6!�6)"��6*��0 
         ก��456�6*�&P�%	��ก�� �ก�� 100 �&*�=�_V��= 
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 4��6��(���)���,1)�4��6*������ +-���	%�6*�%����� (���)���,1�������ก���+1�)�* 
(���)���,1 61 e 80 )� ��,-���� 43 �6*� �*�����)�*(���)���,1 41 e 60 )� ��,-����         
26 �6*� $�0(���)���,1 21 e 40 )� ��,-���� 17 �6*� 4�+"���6*�&P�%	��ก�� (���)���,1        
�������ก���+1�)�* (���)���,1!�"�ก�� 20 )� ��,-���� 76 �6*� �*�����)�*(���)���,1            
21 e 40 )� ��,-���� 66 �6*� $�0(���)���,1 41 e 60 )� ��,-���� 41 �6*� ����0�*���
&��กP�	������ 10  
 

�
�
� 10 ,-�����6*������4� ���������	��	ก��� ,-�$�ก���(���)���,1 $�0&�0�9��6*� 

(����6*� 
,-�����6*� 

����	����� 
�6*�%����� �6*�&P�%	��ก�� 

!�"�ก�� 20 )� 10 76 86 
21 e 40 )� 17 66 83 
41 e 60 )� 26 41 67 
61 e 80 )� 43 4 47 

81 e 100  )� 6 2 8 
101 e 150 )� 10 0 10 
151 e 200 )� 8 0 8 
201 e 250 )� 3 0 3 
251 e 410 )� 4 0 4 

��� 129 191 316 

  
4�ก�����)��0�=5	��3��ก��456�6*������ !�6,-�$�ก5	��3��ก��456�6*������**ก�&'� ก��4564�

9�)&ก�� $�09�)+��%/���<� 9�)&ก�� ����MA� ก��456�6*������4��	�,	���=MA��	�<1ก�= �	��$�"
���� 8.00 �.-17.10 �. +"��9�)+��%/9�)���<� ����MA� ก��456�6*������4��	�,	���=MA�       
�	�<1ก�= �	��$�"���� 17.00 �.-21.00 �. ���MA��	��+��=-*�����= ��*��	���	� 
 ,�กก��<Aก�����)��0�=(6*�8� �%�"� �	���6*�%�����$�0�6*�&P�%	��ก�� 456�����4�9�)
&ก����กก�"�9�)+��%/���<�  3���6*�%����� 4564�9�)&ก�� 68.06% 4564�9�)+��%/���<� 
31.94% (4564�9�)&ก����กก�"�9�)���<� 36.12%) +"���6*�&P�%	��ก�� 4564�9�)&ก�� 74.80% 
4564�9�)+��%/���<� 25.20% (4564�9�)&ก����กก�"�9�)+��%/���<� 49.6%) ����0�*���
&��กP�	������ 11 
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�
�
� 11 ,-����5	��3�����456������"*+	&���= 4�9�)&ก�� $�09�)+��%/���<�  
                  &aก��<Aก�� 2556 (*�$�"�0*�)�� ,-�$�ก���&�0�9��6*� 

  *�)�� 

�6*�%����� �6*�&P�%	��ก�� 

5	��3��ก��456 
�6*�%����� 

*	���ก��456 5	��3��ก��456
�6*�&P�%	��ก�� 

*	���ก��456 

(�6*��0) (�6*��0) 

9�) 9�) 
��� 

9�) 9�) 9�) 9�) 
��� 

9�) 9�) 

&ก�� 
+��%/
���<� 

&ก�� 
+��%/
���<� 

&ก�� 
+��%
/���<� 

&ก�� 
+��%/
���<� 

�
�$
���%���
 26 12 38 69.08 30.92 17 5 22 77.04 22.96 
1. *�)������*ก��%�����$�0ก�������ก��+*� 32 7 39 82.05 17.95 0 0 0 0.00 0.00 

2. *�)����������*��ก&�0+�)= 1  35 13 47 73.40 26.60 0 0 0 0.00 0.00 
3. *�)���*+�1� 11 0 11 100.00 0.00 8 0 8 100.00 0.00 

4. *�)��+-��	ก)*������*�= 32 0 32 100.00 0.00 18 0 18 100.00 0.00 

5. *�)��)�0��1��<�+��=$�0+	�)�<�+��= 27 10 37 73.97 26.03 28 0 28 100.00 0.00 

6. *�)��)�0�<��?<�+��=$�0%�����@1�ก�, 30 20 50 60.61 39.39 29 8 37 78.38 21.62 

7. *�)��)�0<Aก��<�+��=  16 15 31 52.46 47.54 10 0 10 100.00 0.00 

8. *�)��)�0<Aก��<�+��= (��	��ก"�) 33 12 45 73.03 26.97 3 0 3 100.00 0.00 
9. *�)��*��ก&�0+�)=-��<Aก�� 31 7 38 81.58 18.42 21 0 21 100.00 0.00 

101. *�)�� IT-Ed1 0 0 0 0.00 0.00 24 4 28 85.71 14.29 

11. 3�����$%�����	� 0 0 0 0.00 0.00 6 0 6 100.00 0.00 
12. +���J1�%*� 0 0 0 0.00 0.00 12 0 12 100.00 0.00 

13. +��������+ 0 0 0 0.00 0.00 10 0 10 100.00 0.00 

14. *�)��)�0<��&ก���<�+��= 13 0 13 100.00 0.00 20 0 20 100.00 0.00 

15. *�)���1�����)<�+��= 22 0 22 100.00 0.00 17 0 17 100.00 0.00 
16. *�)���*&�051��ก"� 0 0 0 0.00 0.00 38 0 38 100.00 0.00 

17. 3��&KL�<��&ก��� 0 0 0 0.00 0.00 21 0 21 100.00 0.00 

18. *�)��)�0����<�+��= 28 14 42 66.67 33.33 0 0 0 0.00 0.00 
19. *�)��9�)��5�)���<�+��= 33 10 42 77.38 22.62 7 3 10 70.00 30.00 
�
�$
��� +��,� 28 23 51 55.15 44.85 15 0 15 100.00 0.00 
1. *�)���������� 1 (�6*� 200 )�) 31 23 54 57.01 42.99 0 0 0 0.00 0.00 

2. *�)���������� 2 (�6*� 400 )�) 32 0 32 100.00 0.00 0 0 0 0.00 0.00 

3. *�)��<8��=����%��ก�� 28 0 28 100.00 0.00 12 0 12 100.00 0.00 
4. *�)��&P�%	��ก�������<�+��= 1 (SC1) 24 9 33 73.85 26.15 15 0 15 100.00 0.00 

5. *�)��&P�%	��ก�������<�+��= 2 (SC2) 20 0 20 100.00 0.00 16 0 16 100.00 0.00 

6. *�)��&P�%	��ก���)��*1�+��ก��� 0 0 0 0.00 0.00 12 0 12 100.00 0.00 

7. *�)��&P�%	��ก���6����	������$�� 2 0 0 0 0.00 0.00 6 0 6 100.00 0.00 

8. *�)��&P�%	��ก���6�����0������+	��=��-� 19 0 19 100.00 0.00 11 0 11 100.00 0.00 

9. *�)��&P�%	��ก�������<�+��=$�0��)3�3���*���� 5 0 5 100.00 0.00 8 0 8 100.00 0.00 

10. *�)��&P�%	��ก����)3�3���ก���ก��� 19 7 26 72.55 27.45 17 0 17 100.00 0.00 
      (*�)����ก1��*�)           

11. *�)�������ก��+1(9��$�0ก��ก�O� 34 9 42 79.76 20.24 7 0 7 100.00 0.00 

����H���$�+!���/ 25 12 37 68.06 31.94 15 5 20 74.80 25.20 
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 ,�ก(6*�8� ��ก)��5	��3��ก��456�6*��&'��	� �%�"� �6*�%�����M8ก456����`����+	&���=�0 
4.6 �	� +"���6*�&P�%	��ก��M8ก456����`����+	&���=�0 2.5 �	� ���*��ก)���&'�5	��3��ก��456�6*��"*
�	� �%�"� �6*�%������`�����	��0 7 5	��3�� +"���6*�&P�%	��ก���`�����	��0 4 5	��3�� 
 4�ก�����)��0�=(6*�8�&�0+��@�9��ก��456�6*������(*����������	��	ก��� !�6*6��*��
����ก�Y=����?��(*����������	���)3�3�����0,*��ก�6�@�%1�� _A���ก�Y=����?��!�6
ก-����4�6*	���ก��456&�03�5�=������� (4�������`%	%���,0����ก�"� *	���ก��456�6*�)        
�6*�%�������"�ก	% 70% *	���ก��456&�03�5�=���)���,1 (4�������`%	%���,0����ก�"� *	���
ก��456�������) (*��6*�%�������"�ก	% 80% $�0&�0+��@�9��ก��456�6*�%�������"�ก	% 56%           
+"���6*�&P�%	��ก��ก-����4�6*	���ก��456&�03�5�=������� (4�������`%	%���,0����ก�"�            
*	���ก��456�6*�) (*��6*�&P�%	��ก����"�ก	% 50% *	���ก��456&�03�5�=���)���,1 (4�������
`%	%���,0����ก�"� *	���ก��456�������) (*��6*�&P�%	��ก����"�ก	% 80% $�0&�0+��@�9��ก��456
�6*�&P�%	��ก����"�ก	% 40% W�ก�����)��0�=(6*�8����	���� 
 

2.1 6��%
�<
7
 ก
�&���������$� ��
4�ก�
��
�
� 
 4�ก�����)��0�=(6*�8��ก����ก	%&�0+��@�9��ก��456�6*������ *�,�%�"��6*������4�%��
*�)�� ��*	���ก��456�6*� �ก�� 100% ����*�,�ก �ก�Y=����?��ก��)-�����6������ ก-����4�6
5	��3��ก��456�6*�*�"����V�����"*+	&���= )�* 36 5	��3�� $�"��ก��456���,����ก��ก�"��ก�Y=����?�� 
 W�ก�����)��0�=&�0+��@�9��ก��456�6*������ ,-�$�ก���*�)�� 4��6��ก��456�6*�
%����� �%�"� �1ก*�)�����456�����&�0+��@�9����-�ก�"��ก�Y=����?�����ก-����!�6 3��*�)�����
456��������&�0+��@�9��+8�+1� 3 *	��	%$�ก )�* *�)��)�0<Aก��<�+��= ��&�0+��@�9�� 31.18% 
�*�����)�* *�)��)�0�<��?<�+��=$�0%�����@1�ก�, ��&�0+��@�9�� 30.65% $�0*�)��
9�)��5�)���<�+��= ��&�0+��@�9�� 26.59% +-���	%*�)�������&�0+��@�9��ก��456�6*�%�����            
��-����+1� )�* *�)��&P�%	��ก�������<�+��=$�0��)3�3���*���� ��&�0+��@�9�� 2.49% 
 +"���6��ก��456�6*�&P�%	��ก�� �%�"� �1ก*�)�����456�����&�0+��@�9����-�ก�"��ก�Y=
����?�����ก-����!�6 3��*�)�����456�����&�0+��@�9��+8�+1� 3 *	��	%$�ก )�* *�)��)�0
�<��?<�+��=$�0%�����@1�ก�, ��&�0+��@�9�� 39.38% �*�����)�* *�)��)�0��1��<�+��=
$�0+	�)�<�+��= ��&�0+��@�9�� 38.34% $�0*�)��&P�%	��ก�������<�+��=$�0��)3�3���
*���� ��&�0+��@�9�� 25.60% +-���	%*�)�������&�0+��@�9��ก��456�6*�&P�%	��ก����-����+1� )�* 
*�)��&P�%	��ก���6����	������$�� 2 ��&�0+��@�9�� 0.81% ����0�*���ก��456�6*������(*�
$�"�0*�)�� &��กP�	������ 12 
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�
�
� 12 �&���%����%*	���ก��456�6*� *	���ก��456������� $�0&�0+��@�9��ก��456�6*������  
    ,-�$�ก���*�)�� 

*�)�� 
*	���ก��456�6*� *	���ก��456������� 

&�0+��@�9�� (%) 
(%)  (%) 

%����� &P�%	��ก�� %����� &P�%	��ก�� %����� &P�%	��ก�� 
*�)���*+�1� 29.17 23.21 14.36 24.11 4.19 5.60 
*�)��+-��	ก)*������*�= 88.89 48.61 8.01 38.53 7.12 18.73 
*�)��)�0��1��<�+��=$�0+	�)�<�+��= 102.06 76.39 21.74 50.18 22.18 38.34 
*�)��)�0�<��?<�+��=$�0%�����@1�ก�, 136.16 102.78 22.51 38.32 30.65 39.38 
*�)��)�0<Aก��<�+��= 83.91 25.81 37.16 27.41 31.18 7.08 
*�)��)�0<Aก��<�+��=(��	��ก"�) 107.14 6.94 20.75 84.38 22.23 5.86 
*�)��*��ก&�0+�)=-��<Aก�� 105.09 56.94 25.24 24.28 26.53 13.82 
*�)�� IT-Ed1 77.78 0 29.15 0 22.67 0 
*�)��)�0<��&ก���<�+��= 36.67 55.56 11.18 11.99 4.10 6.66 
*�)���*&�051��ก"� 0 104.17 0 3.16 0 3.30 
*�)���1�����)<�+��= 59.26 47.11 13.73 20.35 8.14 9.59 
*�)��3��&KL�<��&ก��� 0 58.33 0 6.46 0 3.77 
*�)������<�+��= 116.78 0 22.30 0 26.04 0 
*�)��9�)��5�)���<�+��= 116.48 27.78 22.83 12.13 26.59 3.37 
*�)��<8��=����%��ก�� 75.69 33.33 9.82 26.80 7.44 8.93 
*�)��&P�%	��ก�������<�+��= (SC1) 91.05 40.28 9.12 28.93 8.30 11.65 
*�)��&P�%	��ก�������<�+��=  2 (SC2) 55.09 43.96 4.73 25.58 2.61 11.25 
*�)��&P�%	��ก���)��*1�+��ก��� 0 33.33 0 30.09 0 10.03 
*�)��&P�%	��ก���6����	������$�� 2 0 16.67 0 4.86 0 0.81 
*�)��&P�%	��ก�����0������+	��=��-� 52.78 29.86 6.11 33.13 3.23 9.89 
*�)��&P�%	��ก�������<�+��=$�0��)3�3���*���� 13.89 20.83 17.89 122.86 2.49 25.60 
*�)��&P�%	��ก����)3�3���ก���ก��� (��ก1��*�) 70.83 45.83 6.64 29.90 4.70 13.71 
*�)�������ก��+1(9��$�0ก��ก�O� 116.67 18.06 12.08 26.99 14.09 4.87 

����H���$ 80.81 43.61 16.60 31.93 14.45 12.01 

 
2.2 6��%
�<
7
 ก
�&���������$�%5��ก�
�  
 �6*������+"��ก���(*����������	� ,0��������6*������%�������"��	�� �	��	��W�ก��
���)��0�=&�0+��@�9��ก��456�6*������%�����4�9����� �%�"�ก��456�����&�0+��@�9����-�ก�"�
�ก�Y=����?�����ก-����!�6 )�* ��-�ก�"��ก�Y= 36.87% +����1,�กก��!�"!�6456&�03�5�=���
)���,1�6*�*�"����V���� ����*�&���%����%ก��456�6*�%�����(*�$�"�0*�)�� �%�"� *�)�������
���*��ก&�0+�)= 1 ��&�0+��@�9��ก��456�����ก���+1� )�* 31.27% ����0�*���&��กP�	������ 
13 
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�
�
� 13 �&���%����%*	���ก��456�6*� *	���ก��456������� $�0&�0+��@�9�� 
    ก��456�6*������+"��ก��� 

*�)�� 
*	���ก��456�6*� *	���ก��456������� 

&�0+��@�9�� (%) 
(%)  (%) 

%����� &P�%	��ก�� %����� &P�%	��ก�� %����� &P�%	��ก�� 
*�)������*ก��%�����$�0ก�������ก��+*� 107.87 0 17.10 0 18.44 0 
*�)����������*��ก&�0+�)= 1 129.69 0 24.11 0 31.27 0 
*�)���������� 1 148.15 0 11.90 0 17.62 0 
*�)���������� 2 87.50 0 10.51 0 9.20 0 

����H���$ 118.30 0 15.91 0 19.13 0 

  
2.3 �6��$����$���ก
��
���
���������6��%
�<
7
 ก
�&���������$�ก+��ก;C��
��A
� 
     ���ก�
��/ 
 

 2.3.1. �6��$����$�6��%
�<
7
 ก
�&���������$�&�4�5���
�
�ก+��ก;C� 
                    �
��A
����ก�
��/ 
        ����*�&���%����%W�ก�����)��0�=(6*�8�ก	%�ก�Y=����?�����ก-���� �%�"� ก��456
�6*�%����� ��*	���ก��456�6*�+8�ก�"��ก�Y=����?�� +"��*	���ก��456������� $�0&�0+��@�9��
ก��456�6*���-�ก�"��ก�Y=����?��  +"���6*�&P�%	��ก�� ��*	���ก��456�6*� *	���ก��456������� $�0
&�0+��@�9��ก��456�6*���-�ก�"��ก�Y=����?�� ����0�*���&��กP�	������ 14 
 

�
�
� 14 �&���%����%&�0+��@�9��ก��456�6*������$�"�0*�)��ก	%�ก�Y=����?�����ก-���� 
�
$�����$/ �ก;C��
��A
� ��ก
��
���
��������� %5���5
� 

�������$
$    
- *	���ก��456�6*� 70% 80.81% +10.81% 
- *	���ก��456������� 80% 16.60% -63.40% 
- &�0+��@�9�� 56% 14.45% -35.55% 
����69
�+�
ก
�    
- *	���ก��456�6*� 50% 43.61% -6.39% 
- *	���ก��456������� 80% 31.93% 48.07% 
- &�0+��@�9�� 40% 12.01% -27.99% 
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2.3.2. �6��$����$�6��%
�<
7
 ก
�&���������$�%5��ก�
�ก+��ก;C��
��A
� 
         ���ก�
��/ 
           ����*�&���%����%W�ก�����)��0�=(6*�8�ก	%�ก�Y=����?�����ก-���� �%�"� ก��456

�6*�%����� ��*	���ก��456&�03�5�=�������+8�ก�"��ก�Y=����?�� +"��*	���ก��456&�03�5�=
���)���,1�6*� $�0&�0+��@�9��ก��456�6*���-�ก�"��ก�Y=����?�� ����0�*���&��กP          
�	������ 15 

 

�
�
� 15 �&���%����%&�0+��@�9��ก��456�6*������+"��ก���ก	%�ก�Y=����?�����ก-���� 
�
$�����$/ �ก;C��
��A
� ��ก
��
���
��������� %5���5
� 

�������$
$    
- *	���ก��456�6*� 70% 118.30 +48.3% 
- *	���ก��456������� 80% 15.91 -64.09% 
- &�0+��@�9�� 56% 19.13 -36.87% 
����69
�+�
ก
�    
- *	���ก��456�6*� 50% - - 
- *	���ก��456������� 80% - - 
- &�0+��@�9�� 40% - - 

 
3. ����%��4�� 
 
 1. �6��ก��456&�03�5�=�6*������ ,�กก��+-���,ก��456&�03�5�=�������*�)���"�� 7 4�
���������	��	ก��� �%�"� ��,-�����6*������%�����$�0�6*�&P�%	��ก���	����� 316 �6*� $�"��
����� 216 �6*���"��	�� ���ก�1"�9��ก�,�0�%�����+��$�0%��ก��ก��<Aก��+����M�-���456,	�ก��
��������ก�������ก��+*� &aก��<Aก�� 2556 !�6 ���!&MA��6*�&�051�$�0�6*��	ก*�,���= 
,-���� 10 �6*����)�0!�6$,6��"*ก�1"�9��ก�,�0�%�����+��$�0%��ก��ก��<Aก���-���4564�ก��,	�
�6*��������������ก�������ก��+*� &aก��<Aก�� 2556 �5"�ก	�  

    +"���6*���������!�"!�6�-���456,	�ก����������ก�������ก��+*��	�� ����*�,�ก��ก��&b�
&�	%&�1� ����*_"*�$_� ����*�&�����$&��ก��456&�03�5�= ���*�&'��6*���������)�0�6*�ก��%�����
,	�ก��456�*� �5"� )�0�����<�+��= $�0)�0��)3�3���$�0ก���	N��51�5� ������6*��0(*�ก��
�-��6*��������456��������ก�������ก��+*� !�"MA��6*��0 50 ����*�,�ก)�0�6*�ก��%�����
,	�ก���6*������ 4�ก��� 1) +*�5��5� 2) %�������5���������������ก	� �-�4�6��+��!�"+����M
���������6*�ก	��	�� 2 ��5�!�6 ,A��6*�,	��6*������$�ก!�6�����4�����*����"*!&  3)�&'��6*���������
�6*�ก��4564�ก��������ก�������$%%&P�%	��ก�� $�"��)���,-��&'��6*�456�������MA�+*��6*�            
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(4�%��)�	��) �-�4�6���������	����6*���������!�"!�6M8ก�-���456&�03�5�=��������ก�������             
ก��+*� &�0,-�&aก��<Aก�� 2556 !�6 ,-�����	����� 100 �6*� �	��	����ก�6*�ก���-��6*������
�	�ก�"����456&�03�5�= )����%�-�ก��&�	%&�1� _"*�$_� ����*4�6+����M456���!�6��V����+1� $�0
)�0)����,-�����6*����������6*�ก��%�����,	�ก��456�*� ����*4�6ก�1"�9��ก�,�0�%�����+��$�0
%��ก��ก��<Aก��+����M%�����,	�ก���6*������4�6�ก��&�03�5�=4�9�����(*����������	�4�6
��ก���+1� 4�&a�"* 7 !& 

2. �6��&�0+��@�9��ก��456�6*������ ,�กW�ก�����)��0�=(6*�8� �%�"�ก��456�6*������
%�����$�0�6*�&P�%	��ก�� &�0,-�&aก��<Aก�� 2556 ��&�0+��@�9����-�ก�"��ก�Y=���ก-���� �	�����
�ก��,�ก+����1)�* ก��,	������ก�������ก��+*����,-����)�!�"����0+�ก	%(����6*������ *�,
�ก��,�กก�������,-������+�����0�%��������4�$�"�0��5��6*�ก�"����&�0���!�6 ���*%��*�)����
ก��456&�03�5�=�6*�������"��ก	� 2 )�0 �5"� *�)��)�0<Aก��<�+��= �����ก��456����"��ก	�
�0��"��)�0<Aก��<�+��=ก	%)�0�����<�+��= $�0*�)��&P�%	��ก�������<�+��= (SC1 $�0
SC2) �����ก��456����"��ก	��0��"��)�0�����<�+��=ก	%)�0��)3�3���$�0ก���	N��51�5�          
�-�4�6ก��,	������ก�������ก��+*�!�"+	��	�@=ก	%(���(*��6*������ MA�$�6,0��ก��456�6*���*�
�	���	� (3���`��0�6*�%����������*	���ก��456�6*�+8�ก�"��ก�Y=����?��) กV��� $�"กV+"�W�4�6��
&�0+��@�9����-�ก�"��ก�Y=����?�����ก-����!�6   

   �	��	����ก�6*�ก��4�6+����M456�6*������!�6*�"����&�0+��@�9���������ก�Y=���
ก-�����	�� 4�ก��,	������ก�������ก��+*� )��)-��A�MA�)�������0+��0��"��,-����)�ก	%
)���,1(*��6*� ���*ก��������,-������+�����0�%��������5��	�� 7 �6*�ก�"����&�0���!�6 *�,,0��
ก���1%���ก�1"�4�6�	����������ก	� ���*�-��6*���������!�"!�6��456&�03�5�=ก�	%��456&�03�5�=
�"*!& ���**�)����������!�"!�6�0%1�&'�*�)����������กV)����ก��456&�03�5�=4�9������6�� 
����*4�6ก��%�����,	�ก���ก��&�0+��@�9���������ก�Y=���ก-�����"*!& 

3. 4�ก�����)��0�=)�	���"*!& )����ก��ก-�����ก�Y=�������456+*�(*����������	��	ก��� 
�*ก����*,�ก�ก�Y=�������456+*����&�0ก�<ก�0����<Aก��@�ก��c ����*4�6ก�����)��0�=�������456
+*����ก	%ก��456�������,�����ก(A�� �5"� )����ก��ก-�����ก�Y=�������456+*��6*�&P�%	��ก��(*�
)�0<��&ก���<�+��= �"*��+�� 1 )� �&'��6� 

4. )����ก��������6*�����������(���)���,1 !�"�ก�� 20 )� (���)���,1!�"�ก�� 40 )� 
$�0(���)���,1!�"�ก�� 60 )� ����*�*��	%ก��,	�ก�������ก��+*��0�	%%	�Y��<Aก�� $�0ก��
�����ก��+*��0�	%&��CC���� �����,-����W86���0�%��������!�"��ก�	ก ����*4�6�ก��&�03�5�=4�ก��
456��������6*������!�6*�"��)16�)"���ก���+1� 

***************************************** 


